B H BR (20225 %) BiE (2023%FE) B (20254%)

TERRERZINZ 2R 100% 100% 100%
TIRBRERZIIR 2R 90.2% 93.0% 100%
FERBIEERZE 12.5% 21.0% 25.0%
EEIR - BIRMRORMEEM IR 100% 100% 100%
EIEAEHITER X 56.9% 62.0% 70.0%
EHBEE X 24.6% 28.0% 32.0%

BRYE AR 35.0% 31.5% 29.8%

INAUROEDER (ARG X 69.2% 73.0% 73.0%
ARLAFITYIOZIRE 97.0% 98.0% 99.0%
BARLRER 12.4% 10.0% 8.0%
LT —X X 81.8% 85.0% 88.0%
TICTA —A XL 1.08 0.8H 0.7H
R 0.4% 0.0% 0.0%
D—DI2HT =T A bX 4.0 4.5, 5=
B (IR 11.6%(9.74F) 9.0% 8.0%
RefIsh 58 (FIDAEENER/A) X 29.08%MH 27 .08 24 0B
FRAER K 31t oft ofF
BHEAIRESR 57.2% 60.0% 62.0%
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